Graphing with a Point and Slope
Draw a line through: 9 \L
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Slope Word Problems slope = rise

run
Ex) A ramp runs horizontally 12 ft. If it has a slope of 0.3 how
high will one end be?
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Ex) The slope of a playground slide is 1.6. If the ladder is vertical
and is 7 ft tall, how far horizontally will the slide travel?
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The slide frovels 4T F4 horzonially,




D-\S"\dh(e-i—M\'r_lpo\'n-}- kegj CB\UQ wS)
@ d-/39 = 5.23 5 o (9,%)er (,1.5)
) d=)52 = 7.4 4‘ Centre C\)O>
D d=JCio = 94.70

5 o (17,-29)
oy ) d=J53 =7 2| )

b)Y _
by F:J?:B_é\ <%) 3)
. o (—QSJ_Q\
3 o (5,3

=y CLy



